
KN-311/1000 (  1  ) [P.T.O.]

Note : Attempt all the five questions. One question from each

unit is compulsory. All questions carry equal marks.

lHkh ik¡p iz'uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz'u

djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA
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UNIT-I / bdkbZ-I

1. What do you understand by the term 'Cost'? Explain in

short the different elements of Cost. [15]

^ykxr* 'kCn ls vkidk D;k vfHkizk; gS\ ykxr ds fofHkUu rRoksa

dk la{ksi esa o.kZu dhft,A

OR / vFkok

The following informations are available in respect of

material 'A' :

Re-order quantity - 180 units

Re-order period - 3 to 5 weeks

Maximum consumption - 45 units per week

Normal consumption - 30 units per week

Minimum consumption - 15 units per week

Find out (i) Re-order level (ii) Maximum stock limit and

(iii) Minimum stock level.

^v* lkexzh ds laca/k esa fuEu lwpuk,¡ miyC/k gSa %

iqu% vkns'k ek=k & 180 bdkb;k¡
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iqu% vkns'k vof/k & 3 ls 5 lIrkg

vf/kdre miHkksx & 45 bdkb;k¡ izfr lIrkg

lkekU; miHkksx & 30 bdkb;k¡ izfr lIrkg

U;wure miHkksx & 15 bdkb;k¡ izfr lIrkg

Kkr dhft, (i) iqu% vkns'k Lrj (ii) vf/kdre LVkWd lhek ,oa

(i) U;wure LVkWd lhek

UNIT-II / bdkbZ-II

2. What is meant by an 'Incentive plan' in wage payment

system? Mention any four such methods giving their

merits and demerits. [15]

etnwjh Hkqxrku iz.kkyh esa ^izsj.kkRed ;kstuk* dk D;k vFkZ gS\

,slh fdUgha pkj i)fr;ksa dk muds xq.k&nks"k lfgr o.kZu

dhft,A

OR / vFkok

What do you understand by 'Machine Hour Rate'? How

is it calculated?

^e'khu ?kaVk nj* ls vki D;k le>rs gSa\ bldh x.kuk dSls dh

tkrh gS\
[P.T.O.]
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UNIT-III / bdkbZ-III

3. Prepare a Cost sheet showing Cost per Radio and Profit

from the following particulars :   [15]

fuEufyf[kr fooj.kksa ls izfr jsfM;ks ykxr ,oa ykHk fn[kkrs gq,

ykxr i= rS;kj dhft, %

King Speed

No. of units sold ¼foØ; bdkb;ksa dh la[;k½ 520 780

Material ¼lkexzh½ 12400  13232

Labour ¼Je½   22540  25358

Selling Price ¼foØ; ewY;½ 150 per Radio  110 per Radio

Particulars ¼fooj.k½ 

Factory overheads comes to 100% on labour and office

overhead to 25% on works cost. There is no opening

and closing stock of both types of Radio.

dkj[kkuk mifjO;; Je ij 100% rFkk dk;kZy; mifjO;;

fofuekZ.k ykxr ij 25% gSaA nksuksa izdkj ds jsfM;ks dk dksbZ

izkjafHkd ,oa vafre LVkWd ugha gSA

OR / vFkok

What are the main points to be considered while

preparing contract account? Give a proforma of Contract

Account.
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Bsdk [kkrk rS;kj djrs le; fdu eq[; ckrksa dks /;ku esa j[kuk

pkfg,\ Bsdk [kkrs dk ,d uewuk nhft,A

UNIT-IV / bdkbZ-IV

4. From the following informations given, prepare a process

account and abnormal effectiveness account. [15]

Transfer from process I 1000 units @  9 per unit

nh xbZ fuEufyf[kr lwpukvksa ls izfØ;k [kkrk o vlkekU; cpr

[kkrk cukb,A

izfØ;k I ls gLrkarfjr 1000 bdkb;k¡ @  9 izfr bdkbZ

Material  ¼lkexzh½    & 13,000

Labour ¼Je½    &   3,750

Production overheads  ¼mRiknu mifjO;;½ & 1,500

The normal wastage has been estimated 10% of the input

which can be sold at  1.50 per unit. Actual production is

920 units.

lkekU; {k; vkxr dk 10% vuqekfur gS tks  1.50 izfr

bdkbZ foØ; ;ksX; gSA okLrfod mRiknu 920 bdkb;k¡ gSA

[P.T.O.]
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OR / vFkok

Explain Operating Costing. To what industries is this

method of costing applicable? What are its objectives?

ifjpkyu ykxr dks le>kb,A fdu m|ksxksa esa ykxr dh ;g

fof/k iz;ksx dh tkrh gS\ blds D;k mn~ns'; gSa\

UNIT-V / bdkbZ-V

5. The following informations relate to Rupa Ltd. : [15]

uhps nh xbZ lwpuk,¡ :ik fy- ds laca/k esa gSa %

Sales ¼fcØh½ 5,00,000

Variable Costs ¼ifjorZuh; ykxrsa½ 3,75,000

Gross Profit ¼ldy ykHk½ 1,25,000

Fixed Costs ¼fLFkj ykxrsa½ 37,500

Net Profit ¼'kq) ykHk½ 87,500

Find out  ¼Kkr dhft,½ %

(i) P/V Ratio  ¼ykHk&ek=k vuqikr½

(ii) B.E.P.  ¼[k.M le fcUnq½

(iii) Net Profit on sales of  7 lacs

¼  7 yk[k dh fcØh ij 'kq) ykHk½
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(iv) M.O.S. on sales of  6 lacs

¼  6 yk[k dh fcØh ij lqj{kk mikUr½

(v) Required sales to earn a profit of  1 lac

¼  1 yk[k ds ykHk gsrq okafNr foØ;½

OR / vFkok

What are the causes of difference between cost and

financial accounts? How are they reconciled?

ykxr ys[kksa rFkk foÙkh; ys[kksa esa varj ds D;k dkj.k gSa\ budk

lek/kku fdl izdkj fd;k tkrk gS\

----x----


